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Show your work! No calculators! Please draw a around your answers!

Please do not write on your desk!

1. (8 pts.) Evaluate the limit, if it exists. Give reasoning.
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2. (8 pts.) Find the numberg a¥ which f(z) SElBcontinuous. Give reasoning.
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3. (8 pts.) Find the following derivatives. DO NOT SIMPLIFY YOUR ANSWERS.
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4. (8 pts.) Find f/(3) if f(z) = 32 — 4z, using the limit definition of the derivative only.

(Note : Any other methods will not receive any credit.
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5. (10 pts.) Using the definition of the limit, prove that lim 2% — 1 =1T7.
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